
 

 



 

 



2-a) 

T=1473 data 
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Equation y = a + b*x

Weight No Weighting

Residual Sum of 
Squares

0.4395

Pearson's r 0.99606

Adj. R-Square 0.98952

Value Standard Error

injection distanc Intercept 0.24132 0.54467

injection distanc Slope 1.50397 0.0773

 

𝑙 ∝ √𝐷𝑡에 비례하는 수식을 고려하여 fitting 하였습니다. 

 

 

 

 

 

 

 

 

 

 



2-b) 

t~60 
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 Linear fitting data
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Equation y = a + b*x

Weight No Weighting

Residual Sum of 
Squares

0.00153

Pearson's r -0.99982

Adj. R-Square 0.99947

Value Standard Error

ln(injection dista Intercept 15.83376 0.1631

ln(injection dista Slope -15995.46252 213.45716

 

ln⁡(𝑙2) ∝ 1
𝑇⁄  의 관계가 성립하는 것을 확인할 수 있습니다.  


